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Janzipiivaans - e . - .. - _ #3138 Slag composition asdua
L. undyng | uunande % nansItAsIEREIUNENTIANvaINand (% by weight) . 100% o,
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Element/Compound 2,673 338| (By wt) | Gypsum | Silica | Limestone Ligntie charcoal Sulfur 5‘14 1 FeO Sio, Ca0 C/Sn S/Sn G/Element 63:26:11

Sn 333.0558 12.46 63 26 11} 0.2-0.3 1.5-2.5 0.61]Tin Ore 63.39
Fe(FeO) 1,591.504 0.15548 59.54 0.046 0.5 0.03 3.01 Gypsum 9.06
As 0.32 Sulfur 5.55
Zn 0.009 Limestone 5.15
Cu 0.016 Silica 15.21
. Bi 0.029 Lignite 1.64
o # Sb 0.027 %Sn in Slag 0.88
S 0.088 20.38 3.8 1.5 98 % Tin extraction 87
Ca0 (119.5) 10.4247 108.3036 0.39 32.22 2.46 55.65 1.58 WNaTINCa0=1.3234
Si0, (92.9) 87.4071 5.5094 3.27 1.63} 94.14 0.68 3.67
AlO, 1.25 0.25 2.53 0.42
MgO 0.05 (#nA3auas Gypsum ¥inpans)
C 30 60 39| 50 100
Juq 22.6

MMUABATIFIMN Phase Diagram i FeOsSiO, = 63/26 = 2.423 udr 8i0,/Ca0 = 26/11 = 2.3636

mMsdnhwingawsn g lutanngina Charge Composition

1. Tin ore (g)

2. Gypsum (g)
3. Sulfur (g)

4. Limestone ( g )
5. Sand (g)
6.Charcoal (g)

Total Charge (g)

Note

2,673
338.6
216.5

251.507

1139.08

111
4,730

Xx)

2.42307692

FeO = $i0, N(u3+G)*dndu FeO/Si0, = 92.9%2.4 = 225 g

$i0, = Ca0 NN(U3+G)*TAdIU FeO/Ca0 = 119.5%2.3 = 282.5g

+ (Y) 0.941 2.4231

+ (Y) 2.281

Si0, Balance 210 CaO YIAMGGAIIN FeQ

»

X
(2)*2.28108

FeO_Balance 200 SiQ,
£ 0.0068 *

(X) 0.01648

(X) 1.3234

(X) 3.2067
naums (1) uae ( 2) wld
Limestone =
Sand =

(3)+(4)

0 S = 2(G+Sn) = [MU.Sn*(S/8n)*100]/90 N G/S = 61/39 = 61%= 338.6g

d9u S 9219 Element (555 -338.6 ) = 216.5¢

uar C = [UU.Sn*(C/Sn)*100]/60 = 111g

2.423 + )
- (Y) 0.874
= 0.014 +
= 3.019 -
(X) 0.014
69
Limestone
Sand

0.8741

1.9938
1.9938
3.0188
3.0332
x)
)

+

225.14 =
282.05 =
= 1194.3
= -431.43
762.87
762.87
251.51 g

1139.1 g

1,591.504 (FeO luuu.azniudiyn)

1,366.360

92.9165 (Si0, uu.azn3u + Wandfild)

-189.13221
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Flow Chart
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HRMI NI ITHMINUIAYN . Limestone (Ca0, Sio ust FeO)
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3UM 2 Simplex method flow chart
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1. ¥MHIMUA Sn INHNMS

v
2. ¥NHMUN G, S uay C

3. M1 FeO : Si0, : CaO fiRpUAY

ST UTIAZIDIANTATUIUTAAL

YUN 1 VNIIYUA Sn INMNLS = (2.673%12.46) /100

333.0558 ¢
Fui 2 MARaRATIHNTAYN Lazngui 991N INAGBIUBY Slag Composition
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AmuasivasaIu et
C/Sn = 02 S/Sn =15 uag G/S = 61/39
uaydnsuiissataTao Phase Diagram sagdil 3 e
FeO: SiO, : CaO = 63:26: 11
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Sn FeO Si02 CaO
widyn 12.46% | 59.54% | 327% | 0.39%
(a‘hmumfﬁmmmmﬁLﬂﬁ:ﬁ |
URTNANDY 2,673g.)
aoudwiminuasnand : 1501.504g | 87.41g | 10.42g
Gypsum 0.046% 1.63% 32.22%
(f{hmuuéﬁx‘hmv‘hmﬁmﬁ:ﬁ - 0.1557g 5.519g 109.1g
URZNANBY 519g.)
Linestone - 0.03% 0.68% 55.65%
Sand - 0.50% 94 14% 2.45%




1IN Sn VLS = ( 2,673 x 12.46 )/100 = 333.0558 ¢

1578113 DM IMINVes Gypsum (G), Sulfur ($). uag Charcoal (C) lsinaziil
ar ;u Ry 3 b . d's/ = i % 1 v d;
winveanane 14un FeO : Si0, 1Az Ca0 Widoufuwodiudunanlinsoganvuy
T ¢ Uszum 60% metleanuhild o, s luvazogs

3

Gatiy Yvinues C = [0 Sn x (C/Sn) x 100]/60 = (333.0558x0.2x100)/60 = 111.0186

o

T8 S = 2 (G+Sn) = [11191990 Sn x (S/Sn) x 100)/90 = (333.0558x1.5%100)/90 = 555.093g
DINAT G/S = 61/39% = (555.093x61)/100 = 338.6067g
Fa1iu 1 InYes G = 338.6067 ¢

A1 S 1214910 Element = 555.093 — 338.6067 = 216.4862¢

* Eve  IDUMTMApINMITIn G 080 61% MIMAB 39% = S =216.4862g

$Uhi 3 WIf1 FeO : Si0, : CaO fxouuTaomsudmumssadl
WRSZ 91N Phase Diagram 92 1AdAAIU FeO : Si0, : CaO
= 63:23:16  smmmmmemmmmooees (1)
an'll 1 Sulsnnaumsd |
Gaviu e 2 snlsfidewdauns fe Feo s Sio, uaz Sio, / Ca0
Aoswey 6326 LAY 26/11
= 2.423 UBY 2.3636
dariu FeO = Si0, 270 (113+Gypsum) x AU FeO / Si0, = 92.926 x 2423 = 225.1677¢
$i0. = Ca0 910 (113+Gypsum) x §ATIN FeO / CaO = 119.5239 x 2.36 = 282.5107¢
Fe(Q Balance 310 SiO,
0.0068 X (2.423) +0.94147 Y (2.423) +225.1677 = 1591.659
Limestone Sand {15 Gypsum
001617 X + 2281Y = 1366492 -----mommmmmmmmmeeenmooee s (D
Si0. Balance 910 CaO M3BFIFIAAIIN FeO
1.315 X (2.423) + 0.058145Y + 282.5707* = 92.92638**
1.3085X - 0.88325Y Y B (11)

Pndgums (1) wae (1) a=le
Limestone = X( -1206.954 + 432.441 ) = 258.17 g
Sand =Y( -3.0656 — 1788.0548 )=597.04 g
nwwmg . * Si0, 3n CaO

#* 1AUS + Gypsum



